A Homework 10

Section 3.4:

12. f(t) =sin(e®) + €t = f'(t) = cos(e?) - & + "™ - cost = e’ cos(e’) + "¢ cos t

16. y = 2cosdt = y =e H(—sindt. 4)+ cosdtle™*(-2)] = —2¢7**(2sin4t + cos 4t)

30. F(v) = (F%T)G =

y v\ (0 + 1)(1) — v(3v%) _ 6 +1-30%)  60°(1—20%)
PO =6 () I - G = .

’ 40. y =sin(sin(sinz)) = 3 = cos(sin(sinz)) d%;_ (sin(sin 2)) = cos(sin(sinx)) cos(sinz) cos

50, y =e* = y’=e“‘c-(e’)’=eem~e’ =

= T ! T T x x
y"=ee .(ez)l+ex_(ee) = e° .ez_*_ez.ee &5 = ¢ .em(1+ez) or e +=(1+e::)

5. y =sinz+sin®z = ¢ =cosz+ 2sinz cosz.

At(0,0), 3’ = 1, and an equation of the tangent lineisy —0 = 1(z — 0), ory = .

60. f(r) =sin2z ~ 2sing = f'(:z:)=2cos2m—2003m=4coszrc—2003w—2,and4cosz:v—2cosz-2=0 <«

(cosz~1)(4cosz+2) =0 & cosz =1lorcosz = —31. Soz = 2nm or (2n + 1)m + Z, n any integer.

A

8. () h(z) = f(f(2)) = W(@)=f(f@)f(@). Soh'(2)=f'(f(2))f'(2)=FW)f @)= (-1)(-1) =1

®9(=) =) + ¢@)=F@) 5 () = FE)). S0g(2) = FRIE-2) =47 (@) ~42) =8,




